POSTS OF MASS INTERVIEWER IN PUBLIC HEALTH AND PREVENTIVE MEDICINE
DEPARTMENT IN TAMIL NADU PUBLIC HEALTH SUBORDINATE SERVICE
AND
SOCIAL CASE WORK EXPERT IN PRISONS & CORRECTIONAL DEPARTMENT IN
TAMIL NADU JAIL SUBORDINATE SERVICE

COMPUTER BASED TEST - 2023
PAPER- I - HOME SCIENCE

Choose the competencies for effective intercultural counseling
Hwigiatem earfp sorFEny GCoremarsster Hnersamens CoibOsHEsLWb.

()  Genuineness (1) Empathic understanding
2 GHTENLOSHETENLO L&smgrmmer Liflge
(1) Calmness (iv) Respect
RTILYS wilwurens
@/ (1) and (i1) are true (B) (1) and (iv) are true
(1) womb (i) &M (1) womb (v) &M
(C) (111) only true (D) () and (i) are true
(111) & (1) womib(ii) &M

(E) Answer not known
aflen_ Gsflweldens

A complex syndrome characterised by neurologic disturbances which
may develop as a complication of liver disease is
Brbue Carermpiseanied eumsILESSLILIGL @ Hisorar HoaTD Gpmu

(A) Cholecystitis @’Pﬁpatic encephalopathy
Ussrien ophHd soedyad ppenerGpmi

(C) Cirrhosis (D) Jaundice
SRR SiPhH LDEHFET SHTLOTEDE

(F) Answer not known
aflen Qgfuielcrency
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3. A group of substances that prevent damage caused by oxidation are
2 WrsGuhpésred aghudnd Crssmes shidEe@h Gurmlastear @upeilar Guwr

(A) Freeradicals (B) Antidepressants
Al wmiEn Werlisa, DT BI(WES GISITIIL| DIBHSISHET
\A Antioxidants (D) Combined radicals
2 WreuefCuibmssHrind R(rEA@aThs pPOSFDmS snml

(E) Answer not known
cflenL Qgtlwelldene

4.  One among the following has chemopreventive effects
Qesreumeuareumed ey Coudludwed sHiy eflenera|senars CsTamHeTerg: ?

(A) Wheat \af Garlic
Camglenin L, &80T ()

(C) Rice Bran (D) Meat
<iflf salH LMSFD /@ e p&s]

(E) Answer not known
aflenL QzMwisileena

5. The initial goal of weight loss therapy is to reduce body weight by
from baseline.
gl @uuy HfFmaler pybu Qe&E 2 L@ amLeawu lgliuami il mbs

(G LILIGTGLD.
v@) 10% (B) 20%
(O 40% (D) 30%

() Answer not known
aflen Qgfluieldena
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Composition of oral rehydration salt solution is

ORS 2.0 sevpsaiien soeana

(A)

B)

N7

(1)

Glucose, sodium and potassium chloride

GepsGanan, Gamqunbd, Qum_L_rdlub @Garmanyi

Glucose, sodium chloride and carbonate
&En&EGamen, Gamgubd @Geammeny®) whmb sriuGe.

Glucose, sodium chloride, sodium carbonate and potassium
chloride

©@epsGanen, Gsmgwih  GCeatmeap®, Comguid  amiuGearl wHhmib
Qum_Lrélud @Carreny()

Glucose, spdium chloride, sodium carbonate, potassium chloride

and sodium bicarbonate
GEnsaGaran, Cemgquib @Gameglh, Gemguid ariuGern’, QumLrflub
GGarmeny( wHOId Camgwibd eugmiTLGaT

Answer not known
aflenL. Qg flweldvena

In chronic kidney patients salt intake is restricted to
prrouc L Anfre Cerurafsafsr 2 fiLy o 1 Aardn@pgselen sl QUL ( 6]

(A)

©

(E)

bg/day Vﬁ 2.4g/day
bg/mmar 2.4g/pmer
1.4g/day (D) 4g/day
1.4g/mmer 4g/prer

Answer not known
cllenL Gz flincildeane

5 Home Science
[Turn over



8. Normal foods replaced by preparations of aminoacids in easily
assimilable forms is known as
HOCGarr siflomsefiar swurfliysamd wrHPULRDL FTETTET 2 e seT aaflbld

QRIS ERTESSGm g Ul 6y QRIS ET eTen Senp&ELILREMS!.

(A) Blenderised soft diets \,{) Elemental diets
DTS FIPTEGLD 2 WG (LpenD erafll 2 amrey(Lpenm

(C) Enteral diets (D) Gastric diets
aumieudl o emre (penn @erlenLl 2 e penD

(E) Answer not known
dilenL Qzfluciidana

9.  The symptoms of constipation include all except one
weFHésadld ghns ibl@Ehlau &L Hs.

(A) Headache, coated tongue, foul breath
geanaaldd, UAWBTEE, GalL sHeursb

(B) Malaise, headache and coated tongue
2 L Op@GMDey, Samaweucd WHmID WS uBrEE

Watery stools and dehydration, dizziness
B e wHmib BRplil, soesbme

(D) Headache, malaise, coated tongue and foul breath
saaeued, 2 I oBa@Emnaey, LFAw BréE nomb Qe Seursb

(E) Answer not known
aflen Qs flwshlcbena
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10.

1l

12.

Foods that contain little or no nutrients but are rich in salt, sugar and

fat are known as

GODHS DG 26T | EFESIHHET BQIOMTS eTTed 2 UL, FT&Eem) wHnb GampLiy

Boopps o emaser

(A) Street foods
Az 2 amwreyser

(C) Fast foods
giflg o anreser

(E}) Answer not known
cllenL Gsfuwishlcrena

orest e pdaLiLihSlenmen.

(B) Instant foods

2 | _ailly. 2_6RI6eYHET

wf Junk foods

&(&,g,p‘j@ O R &6l

Accumulation-of cholesterol, calcium and fibrin in arteries is called
seisaflcd Qarepliy, srodwb whmibd Sevutifler gfueumdler el

TEN SMP&HEILI SIS

(A) Thrombus
Luds 2 epey

\6 Plaque

LIg. LD TETLD

(E) Answer not known
cflen Qamwalildene

(B) Atheroma

Quppsoels i iy

(D) Dyslipidemia

RN T (A T TS

Cells proliferating in a tissue without control is called

ST DD TLDED

&SI HEIDE).

(A) Hyperplasia
evemuiuilermdlwm

(C) Hypertrophy
anapuii’ Gl

(E) Answer not known
cllen_ Gailwshldena

Slassatled

Qumsd Qeoser  ———— GresTm)

\A Neoplasia

HCwmllermluir

(D) Neoplasms
HGwmAermsid
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13. Nobel prize shared by Robin waven and Dr Barry Marshall in 2005 was
for the finding that peptic ulcer disease is a result of
2005 b Spawriged grfen Geueuer wHMID L.m&Li Lmfl wrieyd 2pdACLITmESE
udlpiinc e e atens ufle, enlppoiye GCrmuder eflenarey
raTUaGS SNBSS H SIS

(A) Genetic factors (B) Stress
LDJLIGRY STITEwi] DG HH(LPdHLD

(C) Age \A) Infection
QUILIg) Qsmhm)

(E) Answer not known
cltenL GsMweterena

14. If an obese diabetic i1s recommended 1200 kecals the kilocalories
distributed for breakfast should be around
e umwertar Bifle; Cemuraliseg 1200 AGor s&Gamfl ufpgi@résiud Lme,

srened 2 el aﬂﬁ]@mwaﬁ]a&&uu@m fHCawrsCarfiger s#wmm — @(H55
GauaT(hib.
(A) 500-600 keals (B) 400-500 kcals
500-600 HAGam sGamfl 400-500 dGar sGavirifl
(C) 200-250 keals \A 300-350 kcals
200-250 G Gl 300-350 SHGeom sGamfl

(E) Answer not known
allen Qg flwaicena
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15.

16.

1

Diet low in carbohydrate, low calories and high in protein recommended
for obesity 1s

o emrey penpseflar Gopbs smGummant Crl, Gopss sCoTiser wLHEHILD
Hsyrsd, 2L dumogss uilbgmrssiiufin 2 @re| Fil b ———

(A) Sippy’s diet \M Atkin’s diet
SGller = amrajapenmn < dlerey 2 anrepenm

(C) Portfolio diet (D) Andersen’s diet
Cumm_GumallCGumr 2 enrayupen S emL_iiClFeney 2 emteyupenn

(E) Answer not known
alflen_ G flwelildens

Antiobesity-day is on

o LG LIHLDEN Gl HmeT

(A) November 16tk \jﬂf November 26th
BoUbLIT 16 BeUbUIT 26

(C) November 14th (D) November 10th
babLir 14 Beulbur 10

(E) Answer not known
sflenL Gsfluefebens

Leukaemia occurs when 1s involved
rRu@b Curg @md QeusmydnCrmi ohuBhSlpng.
(A) Epithelial tissues (B) Mesoderm
UnsCared Hla @enL_LiLL_eolb
(C) Monocytes \ﬂ’{White blood cells
QU Qeudrener @SS lamIdbaEer

(E) Answer not known
elenL Gsfuiafdenc
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18. The confirmatory test for diabetes is
gtsgenT Crrepw 2 pHoubSE D uNGargean e

(A HbA1C (B) RBS

O OGIT (D) FBS

(E) Answer not known
lenL @zfiueideana

19. The principle of diet for hypertension is
2 WF BQN55 AW DaTen g iLianl 2 @ura] (P

(A) Low calorie, low fat and low sodium
G@aphs sGarfl, gGanhs Campuy whHpid Gaphs Gamguid
(B) Low fibre, low fat and low protein
GOBS BriEsss), GODHS UamPuy wHND G@PHS LTSD
\6 Low calorie, low fat, low sodium and normal protein
@aphs sCorf, Gepss Gsruly, @Gopbs Cemguwib wLHMID FTSTTERT
LFSLD
(D) Low calorie, low fiber and low protein
Gophs sbarl, Gapbs prisesg wHDD GODPES HIsh
(E) Answer not known
aflen Qgflwsildena

20. Yellow pigmentation of conjunctive, skin and body tissues seen in
jaundice 1s due to accumulation of
inErFaT srmeanauid sramiu@b 6ffl Ceidmud GCzréd wHmibd 2L & Hessaflen
wehFer Flmepl i Srlél ghu s sryemrbd

(A) Fatty globules «6 Bile pigments
Qampliy SHnmaren L se6T 955 Hpuleer

(C) Carotene accumulation (D) Protein accumulation
seuys QaboEhaem BpLS @6 L Lrsh @6l

(E) Answer not known
allenL. GgMutellevane
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21. Obesity can be caused because of interactive influences of social,
behavioural, metabolic and
2 LG LI(HIDEN ¢DUL SMFEONG HeHID6UG SP&D, BHLEH6nS, @Jmfraﬂmg, LDI'l"Ij)‘II)‘&;ﬁGﬁT
Smyenil Ger
\A (B) Cultural and cellular

SEOIESTID DHMID LenFuim)

Psychological and molecular
o arellwue WwHmID epeSenay

(C) Behaviour and cultural (D) Intellectual and molecular
BLSES WHNID SQTFFTILD SiHeyaTT HHID pPE&Hn D)
(E) Answer not known

aflent . CgMuisiidensd

22. Which one of the following is used to protect the baby’s clothing from soil

and moisture?
GYhansSlen el saer e WHDID FILLSSESEHS LNTEETES SDPsseam b

615 LwerLBiSsUn Hidng: ?
vﬂ{ Bibs

(A) Lap pad

geriusgl Giges GRhMBS SWPSGI L
(C) Slips (D) Feeders

SITLIL|en D o6m|” g &efT
(E) Answer not known

cflen Qg flueiicvency

23. A Finishing process that produces a pile appearance is
Gempulln @ersd Carpnsans 2 (BTG @ FTnéEh Wawd wpenm

(A) Emerising VA Flocking
Y=ol f:a] 1A &erF Qom i &
(C) Embossing (D) Calendering
HenLULaseud Qunhlése S(PHHEF FYrssD
(E) Answer not known

eflenL Qgflweildene
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24. Avian fibres are obtained from (AVIAN)
gellwer @evpaser erdlellmpg QupriLGEng 2

) Feathers (B) Seeds
@@ ser shlengser
(C) Stem (D) Hair
B (b) Pl

(E) Answer not known
cllenL Gghwalldena

25. Most commonly used twill silk fabric as lining in coat.
Cops el s onsE Qurgieurs wweauRssuu@n srwefl LG gerflaw

Seir_las.
(A) Surah \A Serge

asallener Cwerul Hig et IC (S lenrsfenavs Hienf
(C) Organza (D) Batiste

Qre QumLiy Grumesr gjewl 2 mSlSl&s Gwetuhsd seanfl

(E) Answer not known
cllenL. QgMuwelldene

26. Which of the following is an aesthetic finish?
Qe (peuaneupifed Sipdlue Franw erg)?

(A) Bleaching (B) Soil release
Qeuenssed | Bimbbés, Lair Qeuetlui(h
) Acid finish (D) Water proof
Siflevd Fireno Bird sHuY

(E) Answer not known
allent Qg iluiaidena
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27. The mechanical finish given to woollen fabric
suafl gieflég CegsstiL@b eabdys Simweanw ser .

(A) Weighting (B) Sizing
arenLenwl HHlsilgsa cflenrliLs setrenio
\A Decating (D) Degumming
glawfl g iy Leng Béatd
(K) Answer not known

efilenL Gsfweildane

28. An example of functional finish is
LG ETen FTHEETE THSHISHTL L STl HE.

A)

(B)

(©)

(D)

(E)

Antimicrobial finish

LLesenas Warael ediiys Srmésn
Calendering

Qo Higed

Mercerization

QuirgenyGaames

Embossing
LjenL_toL]

Answer not known
clilenL_ GsMweildwena
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29. Term used to indicate the napped finish imparted to leather
srflep Hiemw epad usal.C Garelld ahuGssiiEHd Few pepmen erelalrm)
@O e,

(A) Cireing (B) Moireing

&HME) Sjeneeuil LB el
(C) Raising v@ﬁ Suede

2 LITSFIFE Quoeaedlus Cxmed

(E) Answer not known
allen Ggflwaldeana

30. The density of warp is much higher in one of the following fabric.
Qeréupd glaflaeiiad gamla ureiler oL T5d oHsors sraril@Gdlang

(A) Sateen \.{) Satin
RERTUL (B HIed (s les) @eTUL (S Siewtl (FTLigebr)
(C) Irregular sateen (D) Reinforced sateen
RUPBISDD FTL e 6T QU@L L LILIL L ST Le 68

(E) Answer not known
cilenL Gzflweicdrena

31. Which one of the following is produced in printed draft?
Dereu(meuareupiled erg SFALLLLL auenpelled swrfissuuGSpg 2

A) Waved twill (B) Striped design
Sl dpsa|s genilaer SISOOLUUL L GligeUanLDLIL]
(C) Diaper design (D) Herringbhone twill
L WILIT @ulg 6lEnLOLIL| Weraper gmieufl Gpeay

(E) Answer not known
silenL. Qgfluaierene
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32. Open and spinning can produce

conventional ring spinning.

more yarn than that of

Hops  propronsd  wpepudd  sumilEstiu@h - Hioneg  wUBMHY  pepuile
surflesiiufeiens il aéSemen DL EIE, SIFsD STanriuGHb.

\A 3-4 times (B) 2 times
3-4 (pen 2 (penm

(C) 6 times (D) 3 times
6 @penm 3 (perm

(E) Answer not known
clilen Ggflweildene

33. Rapier looms can produce - and materials. -

Grinduwir M epeob swmflssuiLihesar wrane ?
(A) Mushin and Drapery
Quengidldd euens wHmtd SHengéfenavser
(B) Muslin and towel
Glengydled euens WHMID Gl
\A Muslin and upholstery
Quengdléy s wHmID b6y
(D) Muslin and voile
Qweigfled alens wHmID airuliled gienfl

(E) Answer not known
eflenL Qg Mueldena
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34. In this process different bale fibers are mixed together to maintain
uniformity
@is Qeudapen epab Smar saamwarw urmofés LOGam Gudsear | @epadn
REMDIE HOSS LS ETDI).

v‘) Blending (B) Spinning
Bl g BIHY WD [ (PREGSD
(C) Picking (D) Carding
Q&TEHHiISHD H&0sHisse0

(E) Answer not known
efanL Qs flshldena

35. The self-twist spinhing process is carried out to spin -
ereucuans @enpudler HALLES WPMSE BIL BIHDD (pepedwl Lwes i HiGgeur?

(A) Cotton fibers (B) Silk filament
L(ESE @enLp Ul (B Genipaer
\M Wool fibers (D) Man made fibers
sbuefl @enpser Qeuphens Geppser

(E) Answer not known
cllen Qs Nwsideama
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36. Choose the inappropriate statement from the following
Yemeumeuameupdledmmg QUIrmssLHD arsfliugans Caibllshidbaaib.

(A)

(B)

©)

V.1

(1)

Knot Yarn is made by twisting the yarn in the same place

Wds o 20s G sdld mrene Apmis@Eeuset ppaid suTEsiLHEng.
Ratine yarns is made by twisting the effect ply in a spiral method
epatiantp (WP MISEFG (K6 LT, &R EpEnD eflem el 6t @epulley
swrflsstinpdlermg.

Chenille yarn is made by twisting the effect yarn around the core
yarn

uBsd ul® mHIe  ebupraossHHl  elaeames  SHULeUSET  apald
SWTMEsIURE D).

Slub yarn is not a spun fancy yarn
HETEHIG, <L DUNDAGT HITeD &b 6.

Answer not known
elenL Gg,lﬂu_mﬁebﬁma)
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37. Match the following

Fibers Examples
EBTe0&ET T (h&ZISST (b
(a) Cellulosic 1. Rayon
QFevey Gevmen Qewbens LIL{H
(b) Protein 2. Nylon
L{TSLD G BETEI
(c) Regenerated 3. Wool
Bermésib slbuafl
(d) Polyamide 4, Linen
ureSlenn@® D&ESSH|

@ b © @

A) 1 2 3 4
VA 4 3 1 2
©) 3 9 1 4
1

2 3 4

(E) Answer not known
dlenL. Ggtlueioeane

38. The textured yarns are produced from the fibres

@enpaenars GamenT( BupTdlen) o (heurssluG S g

(A) Cotton (B) Silk
LBSS LC®
\A Thermoplastic (DY Wool
Qe @ems sbuaf]

(E) Answer not known
eQenL Qgfwsildene
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39. The term used to refer loose — coiled bundle of yarns of definite length is
S e Lwnen  parapdrar  mrvseflen  emieumen et epleLemwsd  @GHEsL
pwetuRSSILGHD Qared erg?

40.

)

(©€)

(E)

Lea \Kg) Hank

S L1 &HDE wpewm UL prbaseresntl
Twist (D) Count
TG @enpullenr ereisieanflsens

Answer not known
cflenL Gsflwaicvenc

Analyse the statements and pick out the correct ones
SpsTemid FadpsHaet yTiig silwrarethenn s Hls.

1.

(A)
(©
(1)

Warp yarns running along the length of the fabric

ganflseflan Heraunsdad aranriuGaGs Lime| BrosaTTED

Selvedge is the finished edge of the fabric

glentlaflafibL ereimugy gianflaailenr samypu@Harw @HléaEib

Thread count refers to number of warp and weft yarns per square
inch

BIe) eremmenildens ereiLgl @ F&HT ABRGOSHO sTeaTiL@EL urey wHHILD

sarenL [Hdvsafles eramantlband @ Wb

Grain indicates the ratio of warp and weft yarns
@enLpuIh GreTUg UTe| dnid eaenl Fraseiicr oldssmss @mleeLn.

2,4,3 B) 3,1,2

3,2,4 v 12,3

Answer not known
ellant. Ggiluishldamen
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41. The process of removal of sericin from silk filament is called as
UL Qempasafld Qpba Sisenr Gflevar oisHmib (pesmenut ereiaurm GO Hieud ?

(A) Retting B) Degumming
B GflgCQshss Lens Basb
(C) Weighting (D) Scouring
eTenLanl HNSEMEHD Flenanr (W& HEs penD

(E) Answer not known
elen Ggflwuslicana

42. The light source which emits fairly equal proportion of light in all
directions in named as .
Sioasg Sossafigud sowrar saedarar geaflow QaellEin gl apogder

LI
(A) Indirect lighting VK) General diffused lighting
L@DAPSE GHlaTEE, QumgieuresT UFeLTET 6fleTd @ seT
(C) Semi direct lighting (D) Direct lighting
sieny Cory. ellend@ssr Gy ellerd@aser

(E) Answer not known
aflenL Qghluieiicbencn
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43. Brilliant light when provided in an interior will produce

effect
manssioner Geuallégorens @ siampuiled obs clanareilanar erpuBdgHmg ?

(A) Scintillating effect

SMsEs0 efenerey
(B) Enhance our surroundings

BLOF &SOHMICLDBISmeT GbLBSgSaH
(C) Stimulating effect

gramBised aflanere,

\A Effect of physical and aesthetic exhaustions
2 L wHmb ApEpw Ganiey elilenerey

(E) Answer not known
aflenL Qsflweildeancy

44. Which one of the following indicates the name of the foot of traditional

furniture

Gereu(meuameuddled epestmi LIMpOLIFIW WFsmbrenser Lngsgden Quweanyds @dléadng.
Flemish scroll (B) Rasette
si@eriblein eoaGrmed grllgr

(C) Final urn (D) Spoon shaped
@midl seeb SUETlg. 6Ulig G

(E) Answer not known
sl Qgilweidene
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45. Ambient or general lighting usually comes from which type of fixtures?
IS CUMSGWINGT EMGATEIGET &hmtILD ddeg Qurg dlars@sdr aupssors G mhal
auBH DG ?

(A) Direct lighting
Crilg elers@ser
\A Indirect fixture that provide a diffused illuminates

@@ ureurer Geuelsssems cURBIELD DEPD(PS FTSHEEISET
(C) Semi direct

21l CErig.
(D) Ceiling fixtures

o FFQUIDL| MGG MIGET

(E) Answer not known
eflanL Gsflweildane

46. Assertion [A]: Light is an important element in interior designing
aduynssalAl: e argmp auneiminude gafl e apasdwu o muy
Reason [R] : Itis both artistic and utilitarian.
smpenb[R] : @& seewipe whnib LweyéTarg)

W [A] and [R] are correct

[A] wHmid [R] &M

(B) [A] 1s correct, but [R] is incorrect
[A] 5@, gemed [R] seum

(C) Both [A] and [R] are incorrect
[A] wpmb [R] @reanmiCw sfwde

(D) [A] is incorrect, but [R] is correct
[A] seumy wpmid [R] sNwireng

(E) Answer not known
eflenL Gsflweideana
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47,

48.

49,

A well polished mahogany table needs to be displayed against a

Ben  Glmeml L iuce  Gulamhmsel  prhsrelenw Gl ebreemlud e
sT_Su@pEs CouemhHib.
A) Light back ground (B) Dark back ground
eefl Gleresen] @ e 19 erenent]
(C) Bright back ground (D) Chill back ground
Wrasrgwmer 19 ereren Geflreflwuren Qesrasrentl

(E) Answer not known
eflenL Qg flwueldvenc

Identify a resilient floor covering from the following
erreuhauameudmled(phgl ¢ QBALDEITET SN 2 Dentl ML IINGTD SMeRTELD.

(A) Brick (B) Tile
Afls [ Qg 63 (b
Cork tile (D) Mosaic
aTé Cmenas

(E) Answer not known
sflenL Ggflwuaidvene

The accessory which can minimise uncomfortable room feature and can
give fresh look to an interior is

SQgarafluiorar oemn obahismads Gapnss, 2 Uupsfie ydu Csmhpsass
Qarhsssanigw genem1i@uimmer

(A) Hobbies and collections
GumraiGursa@adr wHmb GasMiiLser
(B) Music system
@ens DeUILSET
.} House plants
AL (RS STeUTRISET
(D) Baskets

S GNL_GHET

(E) Answer not known
dflenL Qs flweichene
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50. The type of light suggested for conservation of electrical energy is
Wergnrsens Crilss <,CarflssiiLpn allendEeauams

(A) TIncandescent bulbs
Gefi(BLD e L|selT

(C) CFL bulbs
CFL ueuser

(E) Answer not known
aflen Ggilwelicrana

(B) Fluorescent bulbs

SoLIGRTTrF6T. LU &6T

m LED bulbs

LED udyser

51. The most ideal accessory for a cramped room is

GoiEl  iewpullds  THS  HOBIGT]

©I(m&EGWD ?

) Mirrors
& GBUT GHUTIT |y &5 @1

(C) Murals

HEUIT erhmuLl L

(E) Answer not known
eflenL @gMwelidana

52. Red is symbolic colour of
fautiy arganent GHMUELE smHHAmg 2

Love
& Hg;@i)

(C) Silence

neTesTid

(E) Answer not known
dilenL GgMuieidvene

Home Science

Quir(pereng: | glanentLiC LT mET

(B) Screens

Senyaser

(D) Pillows

HENCV I GHEITE 6T

(B) Mourning

H55D

(D) Evil

anio

Spbesns



53. An example for Analogous colour harmony
P msmn By asflmse|sE ThssssET (5
v(x(‘)‘ Y, YG, G ®) R, Y, B
€C) R,0O,B D) B, G,V

(E) Answer not known
aflen G flialcvena

54. The texture which can be observed without touching the object is

Quupeners Gammnd g LnSCETHNS SeTenDanu) 2_anrTelg) 2SLD.
f Visual (B) Fine

&4l - . IBEIDITS
(C) Tactile (D) Original

Qg m”_(Hemrydsgnig W N2

(E) Answer not known
allenL Qgflwellcvene
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55. Identify the elements used to express movement across space
APDEIAMIHET BETHME GHILILIeNS EHar( Gy

(a) Lines
Canmpear

(b) Shapes

GG QLD
(c) Form
FHETEHLD
(d) Sizes
Y
(A) () and (d) (Lines and Sizes) _
(a) wpmid (d) (CGar@edr LHYD DieTey)
(B) (b) and (¢) (Shapes and Forms)
(b) LHWD (€) (eugeuDd WHYID Femenio)
M (a) and (¢) (Lines and Forms)
(a) whmibd () (Car@iseT wHpD Semenin)
(D) (b) and (d) (Shapes and Sizes)
(b) wpyw (d) (euigeuid LHYID SiaTay)

(E) Answer not known
alanL. GsfNwueldene
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56. Which colour scheme would you suggest for a room facing north east in

57.

28.

winter?
Gaflt  sTssld  euLdlpss,
uflibgiemyadHisdr ?

(A) Yellow green
IDELEET - LIFens
(C) Blue

Heod

() Answer not known
elen QgRwshldene

Corsdlu  ienmd@,

by euemend EHiL Sengl

(D) Green

L&Feng

Greek scale uses the following divisions in the division of flat areas

HCrsa  Cacicussdlan  eldflsnmarg
s UNNgss0UHEng.

(A 2:4
) 2:5

(E) Answer not known
ellen Gaflwiefléanen

<ps  slentl  uglysafie

o 2:3

D) 2:6

Diagonal construction lines generally result in creating which type of

balance?

smie) Gar@adr Qeaens@b  Qurupg  ahs  sLElwomwu  CHurgeurs
2 (heurs@GH mg) ?

(A) Formal (B) Radial

wenpwines/ Fyren FLofleneo

(C) Bisymmetric
FIOEST/@(HUGE FFST goblene

(E) Answer not known
flenL @gMwielidena

27
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59. Form in created when shapes acquire a

D (HEUMBIGET G lq GUIBIGETIS epeod 2 (meumsslLbhAng.

(A) Limited space Third dimension
UENTWMISSLILL_L. @D e TeUg) LML TemTih

(C) Enlarged space (D) Second dimension
cifleurgsiinc L @b @verrneug LfiwrenTd

(E) Answer not known
eflen Ggflwelldana

60. An example for cool colour is
Geflit fingdpsrar g o gryerd

(A) Orange ®B) Red

2T EhS faiy
(C)  Yellow V) Blue
LD EHFET ’ BHeotd

(E) Answer not known
cHlenL Ggfiueidene

61. Using horizontal lines to add apparent width to a shape 1s called
@@ agesdne Qeeitium wrer sesmss Grrss HoLwiisd Car@aemen
LweTU(hSgleuams eranareuen Snmieg: ?

(A) Visual form (B) Creativity
STUF eulg@lib Lien L LI Hmed

(C) Tndividuality ) Optical illusion
SaflGgiah ceaflufluieh wmenw

(E) Answer not known
ellen Qg Mwellcdana
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62. Week/Days Date

eumyLh / lewih [BITL_&&T
(1) World Breast Feeding week 16 October
2 &S STUILILITED GUTTLD 16 =sGLmuir
(2) National Nutrition week 5 June
Cofur sen’ | Fg655) @IMTLD D aferr
(3) World Food day 1 —7 August
2 W& 2 a6y Flamb 17 a6
(4) World Environment Day 1 — 7 September
o W& &ENHMEFSGHD Semb 1 -7 Qeocbuir
A @), 3, M), 2 B) (1), (@), 3), 4
© @, 3,0 - v @), 1), ), @

(E) Answer not known
allenL @z flwaelcvenaw

63. Which International Organisation launched the Global Eduecation
initiative called “Feeding Minds, Fighting Hunger”

“o eargpl Hid wenksdr, ufleow edigg CGuIITHED” D o sermelu Hodel
updlenws aThps sTeuGss iUy gleusdlwig ?

(A) UNICEF (B) UNESCO

W FAO (D) WHO

(E) Answer not known
cllen @sfwellcoene

64. In which year was Antyodaya Anna Yojana launched
eThg GU(HL S8l HCHTHLT jcirenr Guimsgenm Ggm_BisliLl L g)?

(A) 2001 \4{) 2000
(C) 2006 (D) 2010

(E) Answer not known
aflenL Glsmwelerena
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65.

66.

67.

Which organisation was involved in the preparation of ‘Rural and Urban
Food insecurity Atlas’in 2003 along with WFP?

WFP eLar 2003 @ dyrolyn whmbd BETLIYD 2 amre|ll LUTgEmiIDD i e
sumiube s oL FHLILLE?

(A)

©

()

FORD Foundation \M M.S. Swaminathan Foundation
FORD @iy M.S. seunfprser ip&s. L aer
FAO (D) World Bank

FAO > W& GBS

Answer not known
allenL GlgMuwelleene

Mid day meals programme in school became centrally sponsored scheme
in the year

uatefluiedy wHu o ereyssTar EiLb, wbsHu HHlugels SHwns

@I & WTHIWG.

5
©)

(E)

1995 (B) 2000
2005 (D) 2007

Answer not known
eflenL @gflwellcraned

“Take Home Ration” is a part of ——— Act.
Sy h@ ThEGF Qewgibd LEEH ———— s Sdlam @ UGHuNGLD.
(4) Food Safety ) Food Security
D 6WT6Y VGG EITENLD 2 TR | LITGISTLILY
(C) Health (D) NITI Aayog
<, Crrédlwi NITT =,Cuirs
(E) Answer not known

allen_ Qsfuielerana
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68. When was National Goitre Control programme started in India?
Cpdlw  pears@pssspme  sEUUsHsTar Hlrid  @pdurele  au@Qureps

(AF (AL AW ST
(A) 1961 (B) 1960

V(C,')' 1962 (D) 1963

(E) Answer not known
sllen Qg fweildena

69. Except, - —— - other are used for increasing the absorption of iron
fortificants.
— f(ésors oDl @by ssHlaer  agiaplLadld  Hsareilad
Fir&SUL ST g = - - -
(A) Ascorbic acid (B) Sodium EDTA
SevaTias oSieb Gerguwid BDTA
A Phytic acid (D) Ferrous Bisglycinate
U d Lfleod Qurev GevdlenerTHGe

(E) Answer not known
elenL. GgMuieildama

70. Name the food that was first fortified with Vitamin A in India
@hdureiles apserapsela ean i ifler A eurd Qeflay Liul L o ewefler QUi

GTEOTGUT 7
(A) Milk ﬁ Vanaspathi
LITed auaTenLIg B
(C) Oil (D) Salt
eresarlol e 2 Ui

(E) Answer not known
cllen Qg fluelcrans
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71. Name the stabiliser used to ensure the stability of fortified Iodine in dry
mixing process.
2 suemel GQeudurind eaapl L iull HGwmgeller  flanaggeeninanu]
2 mFLUESHD LweTuBSSILIRD Blamaru@ddulear Quwents GG alb.
\,g} CaCOs (B) CaSOs
(C) NaOH (D) Na2CO3

(E) Answer not known
alenL. Ggflweldena

72. “SABLA” is a part of ICDS supporting ———— are group.
“grior’ererp AL ICDS L sfan ———— samer @ LGH G
\A Adolescents girls (11-18 years)
sueri @embd CQuamsar
(B) Pregnant women
smnentl QLTS
(C) Infants
6N &G (G LDIH e S &6l
(D) Lactating Mothers

LImeRT (D SMLILDITTE T

(E) Answer not known
cflen QzMwelldane
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73.

74.

Initially the formulas fed for PEM children are
Qs ss sre sULbseld Ursssdl oo’ 5555 G@apUTlh GLEMSHEEEE oThe

HOENAIGET GUIPIISHILIL L &) ?
\A Milk based formulas

LITed SligUILIenL_WSleTes HeeneuUseT

(B) Meat based formulas

Ganpsd g liLien Wlaren SmenalseT

(C) High sugar formulas
SSlE FIEH®T HOENEUHET
(D) Only fruit juices
ULpFFmmise ol HG0
(E) Answer not known
T e Gsflusiioea

The blood glucose level in a PEM child is
Hrsssd @apur@erer @lpbasuder @QIrss &EnEGamen 6T6 creUeUETa, ?

A) Normal to impaired
@uiduners WPesd @Henpumperes)
(B) Sometimes impaired
oo smeoib WL HID G Da|L(Hieug
(C) Always impaired
r@umpgid @Genne|U (Hieug)
(D) Hypoglycemic always
OrEs sETanas Gane| erlGuTIpSID FhHLIHeug
(E) Answer not known
eflen Ggflweildeana
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75. The Normal Haemoglobin level for adult women is
e piss Quaranse Cseeaiwrar @rss Hpdsafler werey

) >12 gm/dl (B) > 13 gm/dl
(C) >14 gm/dl (D) > 10 gm/dl

(E) Answer not known
eflenl. Qg fluieidena

76. Which statement hold’s true for the “Theory of adaptation™
abs eunsHwud “sscuembsd oNg” e o arano

A\)  Marasmic child is able to adapt to low calorie and low protein diet
by produéing more cortisol \ )

Falamd GYbes fs srigaraosamer o nusd Cdelieugean apeld G®DHS
sCarfl bHHID GODES LTs 2 ewe smen hmis Gasmerer (wpigu|b
(B) Marasmic child is unable to adapt to low protein diet
FeUMVSG GPHNG GHDES UTs 2 avrenel eFHmis Gamemer (piguirg
(C) Kwashiokor child is able to adapt to low calorie diet
GeuredlGuUnEaT Gbas Gmphs sGamt 2 arameu ghn&bsndran (pigub
(D) Kwashiokor child is unable to adapt to only low protein diet
GeuradCUITEET GRHans G®DhS LIS e ammel ghn Csndrear (pigung

(E) Answer not known
sllenL Ggmwueldeamea
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7.

78.

s

Which colour in the tricolour tape (Shakirtape) used for measuring
Midarm circumference, indicates wasting?
Bl @b Ghmerencu ereilheish@ Lweaiuhssludhd ppeuient prLmslld (grdli
GLu) erhs How ‘Geuevigrienwt @NsEng ?
(A) Yellow (B) Green
LD (@h&EIT L& T
M Red (D) Red and Yellow
Sy Aaliy woHmib toEheer
(E) Answer not known
eflent. Gsflweildene
"The dietary assessment technique that provides information of food
availability at Macro level.
2 anre] (HHEGD papenwt wHLEH Qrleugrd ahlshs o_amreyser Hs oerelled
TR&SUILREDS eranuamy ——— sy ss 2 sadpg.
(A) Inventory method (B) 24 hr recall
FI&HE (PO 24 welIGrrib Hlevare|LBbg B0
(C) Diet history yﬂ Food balance sheet
2 GUTE GUITGOMD) 2 amay @KL Hlene
(E) Answer not known
sflen GgilweSldena
The urinary creatinine Height Index for a normal child

@@ srsnan Gbassstar Ampiid HACulgeldr o wps @i
SBh(GHLD.

(A) 0.24 qﬁf 1.0
(C) 0.85 (D) 0.33

(E) Answer not known
eflen_ Gailwueieney
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80. Infantometer is used to measure the height of children less than

years.
e augke Geperar  Gubassealdr  owrsas el
@anrsurenCLiISi i nwearuhissHuRE DG
o 2 ®) 3
©) 1 (D) 4
(E) Answer not known
aflen Ggflwsicrena
81. Methods used in Nutrition Education
21’ | Fodg sevailufed LwaTLRSSILGLD (pepD
(1) Lecture method — Shows how to do things themselves
Afleyewyapedp — Gum@plsener  ereueurn  STEsGer Gsleug  eraTUMS

s_Hdng)

(2) Group discussion method — People acts as an real life situation
@ leurs (panm — ESET g Ml ambsans GpHlaauns dedubdprisear

(3) Role play — Small groups with leaders
uEGshL] BrLsD — seneaeiraenLar FbliEge

(4) Demonstration — Large group of people with in the least time

Qewdelerésid — anbs Crrsde Guiflu wsser @ep

o @ @), @ ® 1), @), @), @
© @)@, .0 D) (1), ), @), 4@

(E) Answer not known
aflen QsMwelicvena
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82.

83.

84.

Nuts can be included, in cholesterol lowering diet, due to
Qamreevl_Tred @e@nE@Gh 2 arelld g WaTat seaer Carssembd

yﬂ() Desirable fat content and fatty acid profile

B)

(©)

(D)

(E)

lmbLSsss Qerupri] o drar &b whmib Gsriprin] ol Semenin
Types and quality of fat and cholesterol

eUamESET WHmID Campliy wHmb Gameevl_yredler gyb

Desirable amino acid profile

eflpbuSsEs NGarm oifle elleumbd

Quality and quantity of fatty substances

2jeTa| wHmih b (Harupriny Gumm saefler)

Answer not known
aflent Qgfluiefdheaa

As the quality of the egg deteriorates, the size of the air cell
e ullenr grib Gonsneanl eigned, srhm Gedeler oieme]

v

Increases (B) Decreases
<idlsf&d gy G ndng)
(C) Maintains (D) No characteristic change
urroiflédlng) TS LIGRTL|SH(EHLD @denad
(E) Answer not known
cflen Qg flweildeane
Meat thermometer i1s used for testing ———— of the products.
@enn&s Qautiinmed ellenerGlunmi saiesr  Gomgamanss,
LWSGTURSSLILHS DS
(A) Flavour (B) Taste
Ib LD GEBI & G 6N 6L &HEN 6L
(C) Texture MDoneness
DIELOLIL swir fleanew
(E) Answer not known

aflep Qg flwsildene

37 Home Science
[Turn over



85.

" 86.

87.

The residue that remains after sucrose crystals have removed from the
concentrated juices of sugar cane is
smbear Qedlapr il L stpseafley @@mbs #&Grmey LgsRiseT SsHRUULL
@ erepFdplILeney eTane ?
(A) Iso malt (B) Maltodextrins
snGeam e wroGLm GLdeulfler
\A Molasses (D) Maple syrup
Qumerevsv wribler Sy
(E) Answer not known
ellenL Qsflusildena
In holding system of pasteurisation of niilk, temperaturé and time
followed are
esliupnIb GeuliLugend (peaouid ehs ellswrer Lmd Ceuliublane wHmD CHID
Geuppruheig
\A 65°C for 30 minutes (B) 75°C for 40 minutes
65°C — 30 Sl mser 75°C — 40 Pull_misar
(C) 80°C for 25 minutes (D) 85°C for 20 minutes
80°C — 25 H_muser 85°C — 20 Rl ser
(E) Answer not known
aflen Qs fuislcvena
As per Codex Alimentarins, the nitrate in meat products can be
CarQLéar el@oarGLiiwey L @emsd Hummlseald bl Criiger ojare]
(A) b50-500mgkg (B) 100 — 500 mg/kg
\;()' 150 — 500 mg/kg (D) 200 — 500 mglkg

(E) Answer not known
eflen Gz flwelildena
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88.

89.

90.

“Milk man of India” was awarded to
@ngwrefler Limed wellger ell(Bg WTHSHE UBIGLILIL L ).
(A) Dr. Robert Mc¢ Carrison (B) Dr. W.R. Aykroyd
wpevareuir. Grruir’ Qs arflaer wpaereui. W.R. sisrmi@
(C) Dr. M.S. Swaminathan \M Dr. Verghese Kurien
apeveneuit. M.S. seumdprser wenanaulr. euiifev (@ flwie
(E) Answer not known
cllen Qs ilweildena
In which cookery scum is formed?
QLML Lilg 50 ereubann Fanns@id Gung o peundlms)?,
Milk (B) Meat
LIm6d wrblEn
(C) Poultry (D) Egg
Camml (pLen_
(E) Answer not known
eflenL. @sMuieildana
The gel forming ability of fruits in mainly due to presence of
upkisaier Gl o meund@h Sper Wposdunnrs @ HLILISHETET STFemTLD
\A Pectic substances (B) Tannin substances
Q&g ebr Lresflesr Quimgpl_sar
(C) Flavanoids (D) Polyphenolic substances
1 CereuermiiL_ev uredlifarmells Gummr ser

(E) Answer not known
eflent Qg flweldenay
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91. Cauliflower and beetroot leaves are excellent sources of
sredlSliemalim wHmbd Sl epl. Gaagaild odfles siareild srepriufiels sl ?

\A Tron (B) Potassium

OGN Qum.LSuib
(C) Sodium (D) Calecium
Gamguitb HEHTETTDL| F5FI

(E) Answer not known
allenL Gsflweildenc

92. are highly water soluble pigments that range in colour from
red to purple. . _ _
ple sequssmgw Hpdlsedr, ey Hpb Wwsed aeuel. cuer

Qar(hdEsdgniquig)
(A) Anthoxanthin (B) Betalains
2BCsT Fmhiler T Ledlebreiv
\A Anthocyanin (D) Cryptoxanthin
2 bCsTEWLIa 6T SAOGLrevmedlen

(E) Answer not known
eflep_ Gsflwaildame

93. Carotenoid pigment in yellow corn is
waer Canersder o drer &Crmgearmi@ Houd

(A) Lycopene Al Cryptoxanthin
emeGasmler ARG Lmeavmerd bt

(C) Lutein (D) p-carotene
GOLLL1q. 6T B -s@rmig.

(E) Answer not known
eflen Qs flweildena
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94.

95.

96.

Lycopene 1s responsible for the bright red colour in
Spser_eupmier ereupBles Lysmawrer Li/Sleuliy HipsHn@ evewGasrier sryemibd
(A) Mango (B) Orange
LDMDULPD BT (GHE
(C) Carrot \M Tomato
Sy &l
(E) Answer not known
cllenL Qs flwishldenad
Elasticity and flow properties of wheat is mainly due to
Cangienuliler Grblpasl wHmIb el LD UTLSE55E STTETDTEINE GTene ?
(A) Albumin (B) Globulin
St ebr G |edlesr
q(f Gluten (D) Gliadins
& 6ThL_6HT SaTTLITIg 6T
(E) Answer not known
eflen Qgflweildeney
Fermentation, germination, soaking etc reduce considerable amount of

LBTHSsd, (paeTsse, 2apaeisse crsamer saflgnrar oere| Gapdlng

(A) Fructose (B) Maltose
L1 &GL e wredGLTen

(C) Lactose \ﬂ)’ Raffinose
r&EGLTE TiTe ot QG errmev

(E) Answer not known
sflenL Qgfluishldvena
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97. The unavailable sugar in pulses produces flatulence in man is
LgBlIY cuenassalled 2 dren eThs LTS Fissay walsaisiE euulpmit dumrmweae
2 GRTL TS &S DS
(A) Monosaccharides like fructose
CunGearmgrgasemylen — SHlpsGL e wrdlflwmer
(B) Disaccharides like lactose
orsGLmen Gumen enLgrEsEamyL_6v
(C) Polysaccharides like starch
eoLiirg Cumetn LTelFTdhEamFL_6L
\A Oligosaccharides like raffinose
priiGenrey Curenp @elCaT Frdsamr_en

(E) Answer not known
cflenL Qgilweicoane

98. The thickness of hot starch paste and the firmness of the cooled paste is
reduced by addition of :
GLren eoLmis Guebiger SLTsdl wHpih GeflaploulL Gueviger 2 mdluirearg
eTHeTApLD @Han&sILHE DG

(A) Water (B) Sugar
Sarmentiv Fh&HED]
VO Add (D) Alkaline
{eLd SN HSETENLD

(E) Answer not known
eflenL Qgilwaiidama
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99. The digestibility of pulse protein is reduced due to
uBLULbe 2 dter Lrssdle CoMwrear @geapumih ghubeusg amemme ?
#) Compact and high molecular weight
s&flgoner wHNL S ppOSHI TR
(B) Compact and low molecular weight
SFESOTRT LHMID GHPDHHS PDEFM TN
(C) High molecular weight and low compact
9SlE POEFmM Tenl HMID GHdDbES QBmESLPanL
(D) Low molecular weight and high compact molecular
GODHBE PG eTen WHmID s QBIHESDIET ppe&snm

(E) Answer not known .
eflen Qgflweldvene

100. Yeast and fermented foods are rich in
el opmitb Yeaflss o ameysefla eraneu oiflaapdrarg

(A) Vitamin Bl (B) Vitamin B2
eeul_Lidler B1 aneul L i8lesr B2

(C) Vitamin B6 \;ﬁ' Vitamin B12
aeul_Lfler B6 @aeul L 10er B12

(E) Answer not known
eflent Qaiflweldane

101. A quick and easy way of formulating balanced diet is
sflcildly o emraneu 2 (heur&@Geugharear eflenyeiner LHMID ereflsmar auld

(A) Selection of foods (B) Availability of foods
2 emraneu CaibbshEGn wpenn o awTesatlen dlent_d@h Senenn
QA)' Grouping of foods (D) Cost of foods
D _GTEYSENET GUMELILI(RGEI%HED o awieyseilen ellaney

(E) Answer not known
cflen QzRwicildranco
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102. Which food group gives more protective nutrients?
THS 266 CUENGESET BISlE LMG &ML serl | &5samns laflEdng) 2
(A) Cereals, millets and pulses
sraflwmiser, dngreflubisdr LHMID LHLL UMSHET
\A Vegetables and fruits

STISHEET LDHMID LI QUEHSHET

(C) Milk and fleshy foods

LMed WHmLd MOF 2 6wTe GUenSHSET

(D) Oils, fats and nuts

erair@enril, QErupLliser whph QaET el sar

(E) Answer not known
. cllent. @z flwellidensa

103. The first step in planning the diet for the family is to know
Ghbusdhsrer o amaneud Ft 1llHeudled (pFed Ly eTeimar?

(A) The foods available in the local area
‘gos‘rr@r'r u@ﬁuﬁ]m HlenL_&@lb &GD:OT@_ISSGTT
(B) The tastes of family members
Ghbu 2 plibearisetar saeusGabL
\ﬁ Recommended dietary allowances for.different age groups
Ghwu e prnferiseler uRGgamysslur L o ae] erallertiy

(D) Cooking methods
F@W (Wpenpen LumEs

(E) Answer not known
eManL Qaiflweildeana
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104. Which one of the following foods contain detoxifying chemicals?

105.

106.

Epssar o 2 amaysafley alayupdlug s Caudui@ummer o drong osenan
FL(h&?

(A) Milk \A Cabbage
LITed plenl_Gamen
(C) Yam (D) Drumstick
SH(HENEEILDIEIE, (DB EHE T

(E) Answer not known
aflen Qsilweildenc

Milk 1s a poor source of
LTl 6TE (&HENDEUTES 2 GTeng ?

(A) Protein (B) Calcium
LrSLo S 6HsTGIOT ITLDL |

(C) Riboflavin \pf Vitamin C
AL 1Gemellen anaul 1L 18em C

(E) Answer not known
cllen Qaflweilcveney

Folic acid deficiency at the time of conception can cause
siuh sMsEh srogdad Gurdls sible Gopur®h gpulLrd sear Saellnbs)
eflenereund —————— ghHupb.

(A) Gestational diabetes wf Spina bifida

shisTe Silifle; Comi apgIQaaubernlerey Gpmiiser
(C) Protelnuria (D) Toxaemia

Anffled yrab s b&es @Hmd Crmi

(K} Answer not known
aflenL @gfuicilcraned
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107. Which one of the following is not an ultra trace mineral?
Seiraumeuatelhmier e Gaphs lere] CaameuliLufib SngsseT S ?

(A) Iodine M Copper
< Guirmig e GaibL

(C) Selenium (D) Chromium
Glgedl el wib &Grrdlub

(E) Answer not known
elenL Qsfweildena

108. The food that was first fortified with Vitamin A in India
@rdurele erbg o amelle el e — A aund Qeflapl L g2

(A) Salt \M Vanaspati
NN GueTaL LI

(C) Milk Powder (D) Biscuits
LT Ly iT Weva

(E)- Answer not known
aflenL. Gasfwelideana

109. Hyper Kalemia refers to
@ISO LOWLIT GTemLg|

\A Excess of potassium (B) Deficiency of potassium
dlsrivgwirer Guml L rfub Qum &b @enpum(y
(C) Excess of magnesium (D) Deficiency of magnesium
ofasriuguirer Quoaeatslunb Qusatduibd @Gmpun(y

(E) Answer not known
eflenL.. QsMiueilcrena
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110.

Galactogogues are substances that induce

CaasCLrase erayh Qurmer ———— sard@ellsdmg.

(A) Growth M Lactation
cueTTFsl LI (hi&ed

(C) Ageing process (D) RBC formation
auwgrer Gawdapenn RBC o peung @

(E) Answer not known
clleni Qzflweildena

111. An adolescent girl who eats large meals but not gains weight exhibits

112.

symptoms like dental enamel erosion, fatigue, calluses, irregular
menstrual periods may suffer from

2iSls 2 el o argnib oL el SiFsfssns q@m LmeulibuemT L6 LbHS g
<fiiy,  CGomrey,  Gsmedy, qupisdn  wrgellimy  Guram @ dlaamer
Qeuefitipdgieug ———— 160,

(A) Anorexia Nervosa Wg Bulimia Nervosa
BIDLG SeTiEs) Symind

(C) Anaemia (D) Binge eating disorder
@rsss Comang Wlens 2 eirenred Grpm

(E) Answer not known
dlenL Qg flweidanc

Calcium needs are greater during
araslund Gsemen eri@umg siHafladlng 2

(A) Childhood ) Puberty
Hmicuuig UL LDENL_GED

(C) Early adulthood (D) Middle adulthood
2TIOL ApSliaruig BOSBT euigl

(E) Answer not known
ellenL. Qsitwaidene
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113. An adolescent girl with folic acid deficiency should be encourage to
consume more
Gumedls olfle @opur@daer @ eueth @erd GuanansE ageear 2 L dsrder
aan&slIUBSS GeusiTHib ?

\A Greens (B) Fluids

Sy U SSET glreuth
(C) Milk (D) Meat
LT wmdlFb

(E) Answer not known
cflenL. Cgfuaildena

114." Name the vitamin that could be synthesised in" the body by outdoor
physical activity
Qeuelliiyn  efewerwin Baefen epwd 6rhg eeulLillenar Bog 2o srGar
2 (HeUN&Sl CETETEHLD ?/2 (HeurdE@Lh

(A) Vitamin A (B) Vitamin B
eneul_Liflewr A eneul L 8ew B

(C) Vitamin C M Vitamin D
anoul_ L1l C eeul_Lifler D

(E) Answer not known
aflenL Gghlweiideane
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115. Todine deficiency during pregnancy leads to in children.
smlenfly Queanseafiic CuTgen (G@DUIL IKLATH (GLEDSHEHES,

ghubEHenimg.
(A) Anorexia
AerGrrEHeium
Vﬁf Cretinism
&M g el
(C) Anaemia
@rs5s Carens

(D) Neonatal tetany
LIFSlemD (GLpHengs@ e @) Tent snea]

(E) Answer not known
ellewL. Ggfweidveney

116. The snack that can be recommended for an adolescent girl with
anaemia is
@55 Gomens o erer cuert Glembd udmemsE UNbsmTssiiubhind ABTnises Seil

(A) Samosa Rice flakes with jaggery
G ‘ Qeudveid s@bhs eued

(C) Wheat puttu (D) Coconut burfi
Gangenn LU - Cgriamit Lmn9

(E) Answer not known
cllen Qg fwellebanaw
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117. The symbol green dot in a square in packed foods denote that food 1is

from
S@LssLLl L 2 areysaild o dter sgrsdanetGer uFmatly Ldrell @ilU® ersaans
@sdls)
A) Plant origin (B) Animal origin
STEUT 2_GRIE GUNS clleDibiE, 2 aRTE] eUENs
(C) Sea foods (D) Dairy foods
HLG 2 a6 eUaG Ume) &bg -6y GUaNS

() Answer not known
cflen Ggflweiicrane

118. Introducing fruit juices to infants after sixth month helps to meet
increased demands of

oM TSRSERESE DG MasEGRhassEssHE UpFsimsmer abg ssflar oibls
Caaneusdi@ auphis Qam migHGomb ?

(A) Calories (B) Protein
&Gamrfser Ysh

(C) Vitamin A - W Vitamin C
enaul_Liflar A aneul_L et C

(E) Answer not known
sllenL GgMweldena
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119. Which one of the following packed lunch provides all nutrients to the
child?
Gphangsaiien ehg wHL o areild (SpEKaETcuDNIET) ADTS 2611 L FFSHFIHEHLD
o gitenesl ?

(A) Idli with Coconut Chutney
Gy et Comismi g1 igefl

(B) Noodles with egg
WL enL L & BI(Hebe
\M Vegetable Pulav with raita
aTisMl Ljeomel WwHmib sulli Ldsy
(D) Chappathi with potato kurma
FUTSEUL 67 2 (henerd Sl @Hom

(E) Answer not known
aflen_ Gsileidane

120. During pregnancy, the requirement of one of the following nutrients is

increased to 150 percent
sirGentl Queansefler Spseam . e om' | sesdlen Coamear 150 sselldlgors 2 wmHw

(A) Zinc \.ﬁ Folic acid
FISSBISLD SGumells =yblenid
(C) Iron (D) Ascorbic acid
@ (miby S60&MMANES BleoLd

(E) Answer not known
cllenL Qgflwelldene
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121. Sucrose has been proved to be one of the causative agents of
&#&ECIEL Y, 6erH &la'gésa;@m_eu‘rj)gjm Q&M emLiL_ EMTeTILITEG . GTeng)

(A) Anaemia M Dental caries
Erss Gerens Ld Crmuser

(C) Dementia (D) Ostcomalacia
Wsienw LN erayib] Crm

(E) Answer not known
sllenL GgMwellevena

122. Census held on 2011 was the of independent India.
2011 @& parCubp wEsTAzsTs sasbla®i _ &zhaly
@hSureur@ib.
(A) 1bth (B) 12th
15th 12th
(C) 11t \ﬂﬁ 7th
11th 7th

(E) Answer not known
slilen Qzflweldanen
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123. The Slogan of census 2011 was
2011 w&&H6T Gerans sem&blaEHber (ppssb

(A) One Census, Million Future
QB &EET Herens sarsbs®y Wadlwer adlismmb

(B) Our Census, Million Future

BLogt wésar Qsnens sersbamiuy Wodlwer erdisman

(C) One Census, One Future
(5 &EET Hsmens samsbs@HUL g adlisrob

\K Our Census, Our Future

Bogl 05561 amas seamré&QabhitiL] HLg eTdliaTeld

(E) Answernot known
sflen Gzflueidaa

124. Population education should deal with of family planning.
waHeT Qgrenas s GHbus sl uur el d easwnar GCealemhib
araigieang Ll smdns.

A) What and Why (B) Why and How
GTGOTGHT LDMILD CFehT eJ6iT LHMID GTUILIg

(C) What and How (D) What and Whom
eTebTent OMHMILD eriiiig eledlett WOHMILD Wimeny

(E) Answer not known
eflen_ QzMwieildenc
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125. Adolescents who do not find social acceptance among their peers may
find a substitute in
gusedr senssalen Cu  Fups  mSsTrEags srewns  @eTd  Lihauddlet
Bl em WIHDL eHL & SrarTaTLD.

(A) Chums (B) Crowd
o L gnienm Gampi Sl LD
\A Gang (D) Acquaintances
LU QzfbgeuTser

(E) Answer not known
cllenL @zfluieierena

126. Growth is in nature.
QuUaTITES @weL.
(A) Qualitative (B) Contextual
LagorL 4 wieo mest G Fnfihs
(C) Rigid ﬁ) Quantitative
1ot jareiluwiey mest

(E) Answer not known
sllenL GgMwelldene

127. Running away committed by a Juvenile is a(n) offence.
a5 Spmr Galubd el e @&HDWELD.
(A) Index W Status
SHI_{H Blana
(C) Conduct (D) Covert
BLSMS DG M &L TEuT

(E) Answer not known
eflenL Qg fluisierana
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128. Who stated “Adolescence 1s a period of stress and strain storm and strife

euarflend weud  “@mreua
EDUULLG?

(A) E.B. Hurlock
@).14. emrers

\A Piaget
CrsmGent

(E) Answer not known
eflen QzMweilevency

LHmIb  SpSsD Bleomhs arwb  ererm  wmymed
(B) Erickson
GTifl & eaehr

(D) Stanley Hall

goL_mestedl ammed

129. Match the type of offence with its example :

SOOI UMEZEIL G 2 SHTeT gL Gummiseh

(a) Index 1.
GBI @

(b) Status 78
Hlena

(¢) Conduct .
bLE®S

(d) Covert 4,
LenDLILIG)
(@ G ©©

(A 4 3 1
@ 4 2 1

4 3 2
D) 4 12

(E) Answer not known
cflen Ggflweildana

W = WM

Lying

Quimi

Cruelty to animals
clloiiEgseer Qar@annuisgseo
Underage drinking

GOPHF LD Gl LPEHD
Robbery

QanéTeneT
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130. Bereavementis a
19 Creul bair ereirLig)

V.4
©

(E)

Dismemberment (B) Accession

Wifey NEGD [ @ESHD
Demoralization (D) Accession plus demoralization
Ap Sl Arpey @anssb wHmIL ApddThe;

Answer not known
dilenL Ggflwsildana

131. Identify the right order of steps in a counselling process
g, Cavneanar QFupenpuile FTWITaT LikgSene <HenLLITETD &TeRT6y D

V.S

(B)
(©)
D)

(1)

Analysis, synthesis, diagnosis, prognosis, treatment, followup

u@LuTle), Qerguy, Gsmi  asadm digd, perseaiiy,  fsms,
Yer@s s

Analysis, diagnosis, synthesis, prognosis, treatment, followup
uglumie), CGrmi  sarLlgd, Garguy, easaiuy,  Adsames,
1l el s mLirged

Analysis, prognosis, diagnosis, synthesis, treatment, followup
u@Luriey,  apargenfliy,  Cumi  searLdgd, Csmguy,  ddlsas,
e migeD

Analysis, diagnosis, prognosis, synthesis, treatment, followup
LgUurile), Gemi sar_hlgea, apersamiiy, AsrEliy, Hflsms,
WerGamirsd

Answer not known
edlenL G flwsiidane
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132. Which of the following is not true of guidance?
emeupauameubiled eTg anflaml Risedld o eimentowiden ?

133.

(B)

(©

D)

E)

Pre-service training is must

CoanausE phamsw Luilpd oeudlub

Can be both as an individual and group process

& SNILLL Hmb @ Ceudupeanurs @)(wmESaomD

Concerned with educational and vocational options

seal Hmith Gsmler eflpUiukiser QgrirLmarg,)

Can be provided through magazines, books and correspondence
LSENDES5ET, LbsabIHeT ODHID SQeEIGET (PEID GUPEIS (LPig.LL{D

Answer not known
lenL Qs flweierensy

Which of the following assess the personality of an individual?
Yeraumaedataubmled 6T ep(m BLMET L emanwent WHAHE D2

(A)

(©)

(E)

Tests of Creativity \ﬂr Psycho-metric tests

uenLUiLmbne Cangener @ a5CaEmhwl MG Corgenanser

Differential aptitude tests (D) Wesders scale
wrmul L fper GCargemarser GleusvLitev jereyGard

Answer not known
sllen GgRweilebene
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134. Strength of Peer Pressure
55 SPSHSHHen auadienlo

(A)

(B)

&

D)

(E)

decreases throughout the course of adolescence
@larenoll L(HeULD &M AP(PeUFID G@DEDS

increases throughout the course of adolescence
@erentols LReUL &b WPeUgD HsTsHng

increase until middle adolescence and then decreases
BEh&sT @etenoll Lmpeud etany flaflsg erant @amndng

is difficult to measure and has never been successfully graphed -
Sareil  shanons  oererg  bHmd @@ Gumgnd  Qeupdlsrors

_ GuenLIL_LDTEEIILL 6llehenad

Answer not known
cflenL. Qs flweildana

135. Changes which occur mainly as a result of experience are said to be a

product of
Ll L lenred huU@D WwrhHmkseT aflem el LM meTT@Lb.
\A). Learning (B) Maturation
&hmedl e pSlirFsluler
(C) Guidance (D) Counselling
BLgggalan <iflajanrulie
(E) Answer not known

cflenL GgMwelildveney
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136. Match the type of guidance with its task.
aflsT(Hsedler auamasem oigen LeniluL e QLim(hsgs.

(a) Educational 1.
&ea

(b) Vocational 2
Qsmflbasc el

(¢) Personal Sl
gsafliur L

(d) Social 4,

FOPG

@ b @© @@
A 4 2 3
4 12
© 4 2 1
D) 4 3 2

(E) Answer not known
elen Gaflwaioena

- o

Train students for adjustment in a chosen
vocation

CamplsRasnur.  Ggmfleled  wrewreuisamern
#Mlaiw LudHe

Help students to improve mental health
&S s GODURSS DIETEUTSEEEE 2 56560
Build a spirit of team work

& Couenauller 2 enrianel 2 (HeUN&@Es®

Assist students in continuing education
wirenreligEer Gsr_ihg soeilssE o gaj5H
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137. On the basis of residence the family may be classified as
culinal sdlem g rinenL 16 GGHbLID eren cuensLILI(RSSeTLD.
I. Matrilocal
STUSFTT & (pIbub
II. Patrilocal
Sheng euflweTaning @Hbuib
III. Monogamous
RBST LoaTd Carar g

IV. Polygamous
LTy e Clsmen g

(A) TandIIl (B) Il and IV

[ opmud III 11T whonb IV
(C) Ilandlll \M ITand II
II wpgub I1T I opys 1T

() Answer not known
cfenL GlgMwellcrena

138. According to the place of residence, the family pattern is categorized as
ufl&@bd @)L sy, GHLU bl eratTy eUaSUILINSSUILIHE DG
(A) Monogamy / Polygamy

RURSTTLOERTLD [ LQGTTLDERTLD
(B) Maternal / Paternal
srbeifl | spensefl
(C) Matrilineal / Patrilineal
@hbusdd due aPuiled aumsd /| GHLUSEHD e eufluded eumgd
W Matrilocal / Patrilocal
snlEnt GHbub | gheng alfludTawns @&hHbub
(E) Answer not known
cflenL @gflwsicrene
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139. The idea that a new behaviour getting rewarded and the old one ignored
1s

@ USw pLgeans Gaugnd dumdlpg whmnb Lewpug LnssaflssiiuBEng erem

S(B5H]

(A) reciprocal inhibition (B) desensitization
LipeLiy sHUIL FahsPuib Sper sHUL

(C) classical conditioning \M operant conditioning
urgbuflu Fyepwiiy Qewdum’_ @ Sreowliy

(E) Answer not known
allen G flwefevene
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140. Match the following :

Cum(psgs
(a) Clique

O1CY

(b) Crowd
Fal L LD

(¢) Gang
@DUD

(d) Friendship

By

@ ® ©
@ 3 4 2

@ 1 2 3
\542)3 4 1
M 4 1 3

(E) Answer not known
ellenL Qgflwallcrenay

Home Secience

(d

b DD =

Evolves spontaneously from the play groups
of pre adolescence

cllepemurl_(Hd  @(pdser  wOHmD  @eTaniol]
LSSl @)mbg senaflFamsurs o (Heurdlng
Close friends or chums, usually of similar
age "
Opmhdu  parursdr  odag durgers @Gy
euUIGlen L U6 &6t

Three or more individuals who possess
similar interests

@55 peuIsmeTs  CsTamL  apeim  Sideg)
<i5HE& CuHu L BFUTSET

Fairly and evenly divided between the sexes

LI meS aTihl S{@B (S, @en_uled FLOLDTEEYLD
Crrsdurseybd Gflédsiin g
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141. One of the following is a characteristic of nuclear family
lettel (meuareumdled qpam el GHbusdler Aprnducyy
(A) Kith and Kin members live under one roof
2 micnSenit Gy amenyuller Sp eumpdlpmt
(B) Members eat food cooked at one hearth
o mitnbleriadr gmn SIHLNAD Famwss 2 ewieney LIRS DTTSEr
M Smallest social unit
BlasRdhu Feps i@
(D) Members hold property in common
» pilleriser Qurgieuner Wensgisamar emousshabSmrrseT

(E) Answer not known
eflen_ Qg flwelleana

142. The actual amount of time spent on any household activity is
abgsQeur il Caramewndad oigamar GauausnE el liti@ib Crysden
ereney ereuelmm @O Hieui?

(A) Time norm d Time cost
Cor el aperm Crr Wewa

(C) Work load (D) Peak load
Couemer GHanlo o FT GHenld

(E) Answer not known
ailev Qs flueideana

63 Home Science
[Turn over



143. Read the following statements on techniques of work simplification and
choose the correct answer :

Spargpid vewll eraflenwuns@h mUusHear amposeer Ligss sflurer Csireaeu

ST Hle.

Statement A : Process and operation chart techniques do not involve
any specialized equipment.

gapm < ;. Qewéwen wHmL  Geudgeap  ardsiuL. R LSS
areueily sefldpandn s@meilsErn UweTuhsselldeame

Statement B : Memomotion and cycle graph technique need
sophisticated equipments.

FapHmnl <l : GQuwGor Cuorger wHmpbd  spHdl  eueguLd  [IILSSD,

. LWL UE srgamise uwearuBidslibhdng).
(A) Statement A is true but statement B is false
shml S DT HTTD Fndml <, SID
(B) Statement A is false but statement B is true
Fadhm <2 SEUM 6D FadM 2, D ETENLD
M Both statements are true
DDl <2 WHMID <}, 2 EBTENLD
(D) Both statements are false
SOOI < OO B SEIHI

(E) Answer not known
aflen Qs flweildeana
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144. State which of the statement given below is true
&ECp Qanhsstiul Hdrar siflsenasulle arg 2 amenlo
(a) Delaying rest period results in longer period of recovery.
plia] srases STsILRESHeg b sre B L&E eufleu@dhEib.
(b) Longer period of rest affects warming up period.
Ber. guia) &b 2 Herssms LTHEHADG.
A Both the statements (a) and (b) are true
gapm (@) womib (b) 2 @remin
(B) Both the statements (a) and (b) are false
sapml (2) wppb (b) saug
(C) Statement (a) is true and (b).1s false
sy (2) o e wpp (b) sap
(D) Statement (a) is false and (b) is true
sanHm (2) seum whmb (b) e areio

(E) Answer not known
sllen_ Qgfuiaidene

145. A work simplification technique which identifies extra motions while
carrying out a work is
e Geuamaeaws Gainyb GCurg smBHsd Quastismer e wrearb srepb Geuanen

eraflenolILIBGSID HIC LID

(A) Cycle graph W(Process chart
FLpH& euenTLILID Gawdapenm aflemdarin_Ib
(C) Memo motion (D) Operation chart
Hlenarapl L e Qeweur® eletsasliL b

(B} Answer not known
aflenL Qg iflwiaiicoene
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146. Considering the centre of gravity is one of the principles of
LI enbwsans shsSla Qardeug, by Qanaressallds geatmmELb.

)  body mechanics (B) body index

2 L @uisseilwe o L& @Ok

(C) body allignment (D) body nature
2L Syepoli @Qupens 2 L&

(E) Answer not known
eflenL. Ggflweldena

147. The energy supply diminish and physical disabilities require the
reshaping of energy spending pattern in this stage of family life cycle

GOHLU uTDE®SS arrlepgpﬁuﬁ]m oTib asl_t.,‘g,@a) SLHDD CUPREH GHODESILILE,
oL d (@epurlh STreEmEeTTED wHmed GFwelidar (D MGG eSS

Ceusimig 1 @GLped erhuREmg) 2

(A) Beginning family stage (B) Child bearing family stage
< TL GH LU [Flend sHeym &b Hlane

(C) Expanding family stage M Contracting family stage
cffleuanLujib GHHbU Hlanew &HRIEGD @Hbu Hene

(E) Answer not known
ellenL Ggfweildena
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148. Match the following :

Qunmssis:
Resources Examples
GUGThLISHGT D& 650l al S 61
(a) Knowledge 1. Income
<oiHley GU(HLDTEITLD
(b) Energy 2. Cooking
<2pMHMmeL FENLDILIGH
(c) Money 3. Information needed to purchase a stove
LIGEOTED SIHUY eurmhis CHeneuITet $&H6 ST
(d) Skill 4. Fuels
Spenio erf@ummeraser

(@ ® @© (@
A 4 3 1
® 1 3 2
vl 3 4 1
™2 1 3

(E) Answer not known
cflen GgMweildeane

W BN W DD
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149. Identify the factor which does not affect family budget
GObu ey bewas S Lsms undlssng srjaflep i WTeTd STawra .

(A) Intercity differences
BEh&EREE @ udorar Gaimiur@eser
(B) Family goals
&OLU @& Eser
(C) Size and composition of the family
&HbU erarrenflGens HRID 2 mnderisar

\M Type of income

GU(HIDTEETLD GUENG

(E) Answer not known
aflen Qzflweldane

150. The other name of enjoyment income is

‘maﬂlc.péctﬂ S(HLD GU@LDrrGuTLb’ Ceum QuLiwf erebren ?

(A) Money income "~ (B) Real income
&l eumeum Culiwumrer (el
W& Psychicincome (D) Total income
LDETHlEnME S(IHLD G (ThEu Il @rss elmnmeDd

(E) Answer not known
alenL GQsfuieieranay
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151. Inability to exert due to previous exertion refers to
whmgw  2@pullda  srramors  SIRSs Crud delw  Quenmo et

GMNEEg).
(A) Psychological fatigue \A) Physiological fatigue
o amellwe Gamiey 2 L Sl Gemirey
(C) Physical fatigue (D) Boredom fatigue
2.1 ¢ Gamiray gedlliy Gamiey

(E) Answer not known
aflen Qgfielioena

152. The fatigue which results due to conflict in a group is
. R Gpetd Cursdasdt smraenrs ghuiib Cemie)

(A) Boredom fatigue MFrustration fatigue
sty Gamitey guwrhn Gemie]

(C) Physiological fatigue (D) Psychological fatigue
o | eBlwe Gamiey 2 greflwied Gamiray

(E) Answer not known
eflenL GgMuislildrena

153. Energising, checking and adjusting are the phases of
2 Herstiuhsgse, silumisgsd whnn FNGaLsDd dHume Yeal(mearelbibler
CTEHET UL BI&ETTS SIHSIILIGS DS ?

(A) Planning (B) Organising
3 [T V= ghurh Qeiiged
\K Controlling (D) Evaluating
H_(HILHSEISHED s

(E) Answer not known
ellenL Gsfwelildene
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154. One of the following is not an outcome of the phase — “accepting the
consequences of decision”.

Gemauauameunded g “@uy wgeler elmereyseer ahmGCsTaTg”  ppaD
Qeuaflinhn elenerey e ?

(A) Creates self confidence
senanblilgmaamu 2 (Heund@dng)

(B) Planning and organisation
S LBl Wwhmib @bssoatar auiflew aiGsSns

‘M Making irrational decisions
LGSBHIDD (Pyoysmen 6TOS5D

(D) Making quick and effective decisions
eflepyeunat HHID LWEIETaT (PG SmeT erHSHSH

(E) Answer not known
sllenL. Qghlwelldrana

155. One of the following decisions pertaining to personal concern is known as
saflOuL_ @ssmpuller Ggriiurar (pigelseflc garm wrg ?

(A) group (B) habitual
GW g QUPESLONGT (LPlg.6
M individual (D) central
sefluuiL pyey gdlu @pige

(E) Answer not known
sllenL GgMweldene
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156. The decisions which are based on allocation and exchange processes

- 157,

relating to resource use are known as
euem  Lwaur®h  GAsm_fumer  gEis&ER  whmb  uflorhn  Cewdapempasetar

Slig.LILeLuild erRESILIMD Apig.eySHET (Pige| eTar SiMuiuRdermer.
(A) Technical M Economic

Qg e L QumgperTsTyb
(C) Group (D) Habitual

& GULPEG & LOMGT

(E) Answer not known
alten Qs flwchlcoena

One of the following is used to achieve goals and assessing standards.
Gemaumeuameauphldd  Gas@smer  o@Lweb grflamoseer  WLHIEReusSMHED
LU SSL{HEUS 618 ?

A\) decision making at all levels
Simandgl UL Bsalen apigbleuhiriig

(B) planning
[T (W)

(C) controlling
SL_(QUIumSgisen

(D) evaluating
wHrHse

(E) Answer not known
aflenL Gsmwelidvency
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158. A family’s value pattern is developed by the process of
e Ghbusder Qunpwrar wearGarpm eullludsr Qawdapan wrg ?

(A) Industrialisation (B) Procreation
QsmMeww s @ eiClumEsD

(C) Recreation \m Socialization
Qumupg Gurés, FADEHDWIDTESED

(E) Answer not known
aflenL CgRweNana

159. The motivating factors underlying all family decisions are
&HbU pyeysailear Gurg sasswalsEh asmeamflaams smsliu@Guae

(A) resources, values and goals
cuUETRIGET, WUHLTETD WHHD @& EEer

(B) management, goals and standards
Cueramennd, @a&EseT Hmib SFb

M goals, values and standards

Gas@ser, u@pnrarnd wHmIb STLb

(D) aims, goals and standards
GSNECaTeTsaT, @eas@seT HnIb Srb

(E) Answer not known
slenL Ggfwaldea

160. Home management process aims to achieve
ergl il (h Cuenaremn QeEwduern el CHIEsLTs o drerg) ?

(A) decisions (B) family resources
(P lq.G ST GHIDL CUETRI&ET
family goals (D) values and standards
GHOU @)@ ser wSHliLsEr whHmib sybleneger

(E) Answer not known
clilanL GgMlueierana
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161. Read the following statements about evaluation in home management

and choose the right answer.
wenar Guwerdgneny uphlu  eunsSukisamer seianns Lgsg stlwmer  Ldane

Caimblls®.

Statement A : It forms a guideline for modifying the plan.

sflsens A 1 @ HLgHemen WIHDEISDHETET allan Hseme
2 (HeUn&H@GEng).

Statement B : It is not related to goals or objectives.

sifléams B I Qg Qesead oy @hsCardsenLer  Carimug
2 EDGL.

\%{ Statement A is true but statement B is false

(B)

©)

)

(E)

<idsaas A o @renn e siflsams B SEUMITRTG
Statement A is false but statement B is true
iféens A geun pamd sifsas B &

Both statements are true
siNsmaser @rarHGu i

Both statements are false
oiDisensseT GramHiGo Seumnl

Answer not known
allenL GzMwaidvanen
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162. TCA cycle 1s

TCA sphfl erettig) eretres ?

(A) Tri Citric Acid Cycle
Leny S Mé eidle sphél

\M Tri Carboxylic Acid Cycle

Leny sriumseiedls e sphsl

(C) True Citric Acid Cycle
Lem SILMS Spdley sipmél

(D) Tri Citric Aided Cycle
Ceny SUflé eniit &pHa

(E) Answer not known
cllent_ Ggflweildene

163. is a condition caused by excess of water intake to quench
thirst in hot climate and increase the volume of intra cellular fluid.

ereirug Geliiorar srofleold sresmss sanss iHs 6]

samentt o Qardeusred wHMID NsFCFDd Hreugdle Bl memey gHL@L Bl

SiFlaflugerme

(A) Dehydration (B) Hyponatremia
Breupdlu Flene anan16uCerMulwim

(C) Diuresis M Water Intoxication
ey flfle Bl Hlena

(E) Answer not known
aflen Qs flwechevene
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164. Megaloblastic Anemia is a deficiency of
Gwasmrieamediyd @rss Camms Tsem GHamDUTEH @D ?

\;Af Vit Biz + Folic acid

aneul_Llerr Big + SG8umedls condevtb
(B) Iron + B complex vitamin

@y + B smnblieged eveu L8
(C) lodine + Iron

<|Guimgeir + @)(HDLESE)
(D) Biotine + lodine

uGuimiiger + Gwimg.er

(E) Answer not known
sflen Qg fwefldemae

165. Pellagra can be cured by a good diet containing adequate amount of
Quéersymeneay g B 2ewey Sl d apad  Cumgorer  Slerey
SpsaamLameusailed arang aTOSGHSHCETETLFO GemTILI(HSSOLD ?

\ﬁ{ Protein, Tryptophan or Niacin
4rsib, g RiGLruer odeg Hluirélen
(B) Protein, Iron
Hysb, Gy
(C) Protein, Biotin
Hrsb, LGumiger
(D) Protein, Iodine
LI, G e

(E) Answer not known
cllenL Qg Muwiecildena
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166. Which of the following is called 3D Disease?
Qeneureuareupey erg 31D Cpmuiiser erenm iendstiLGEDG ?

(A) Scurvy M Pellagra

eosiell Qudensrm
(C) Rickets (D) Osteomalacia
M&da1 e < evig GuimpGadwm

(E) Answer not known
ellen Qzilwehldena

167. Dimentia is one of the symptom of
Qoerflur erarLgl SipssamLeupniar gearler G@DUTH <pGD

(A) Iodine Deficiency (B) Vit. C Deficiency
2 Cwimg e Gepunp o Wirsssg C Gepur(
\M B Complex Deficiency (D) Iron Deficiency
B -smbleréen @epur® @ (mbyFEsE Gapun(

(E) Answer not known
sflenL Ggflweicrane

168. is the principal electrolyte in the extracellular fluid and
maintains water balance.
up Qoo Freusden apserewwrer s Crrenel  whmith BT
swhlepavenwt LgmoT&Smg.

\A Sodium (B) Potassium
Gamguild Qumrc__rdub
(C) Zinc (D) Calecium
FIHBBIGLD STe& I

(E) Answer not known
cllenL Gsflwusieena
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169. occurs due to low albumin, high sodium and low potassium
levels in serum.
15558 (b)) Geophs sioyfer , sifls Camguid whmb Gmpbs GumLrdlwub
S flumes ——— ghuhissdlenmg.

(A) Muscle wasting
ses Gy
M Oedema
@uor (Hramiene)

(C) Anaemia
158 Garens
(D) Moon Face
BleayGurd wab (Wwasdd HiGarieneu)

(E) " Answer not known
slenL Qg flineideane

170. plays a essential role in the formation of DNA and RNA.
— it erait g (RNA) wopmid g.eréir.g (DNA) 2 mamauded wpédlur L
cudlsfpey.

(A) Calcium (B) Sodium
amofwib Gamg wib

M Zinc (D) Iron
SISSHISLD Qo s5g)

(E) Answer not known
cflem . Gz flwelldena
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171. Wernicke’s Encephalopathy is caused due to deficiency of

Qeutrefdeh ereitClauGamugl G@purh sryeions gouhidEng.
(A) Potassium \}6{ Thiamine
Quir_rflunb Sluimbler
(C) Zinc (D) Sodium
FISSHTSHLD Gamgwib

(E) Answer not known
dlen QsMweiideane

172. Vitamin Bis is also known as

eeu Ll 12 _ FTETID D PSSLILIHE DG
(A) Biotin w}' Cyanocobalamin
L Guamig el e F L GemmGa muimeyLdl e
(C) Riboflavin (D) Thiamine
MGLIm 1 Garai et Huwimles

(E) Answer not known
sflenL Agflweildens

78 fruits are rich source of vitamin C.

uphseie ealLllar C Hlapbgders.
ﬁ Amla, Orange and Guava (B) Amla, Orange and Pineapple

QpoesEaT, 2, rEhs, Cemiwm QBSIEETL, D FEHE, HeTaTS
(C) Amla, Apple and Guava (D) Amla, Orange and Mango
QpeellsaEmi, i, Gaemiwmr QB@OIEETL, &, TEhs, OMEISGTL

(E) Answer not known
altenL QzMweildene
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174. system is severely affected due to dry Beri Beri.

2L genwliy [/ wariob 2of Quit Qufl sryewmbrs s@Heniouins

urdl&sLmib.
\M Nervous system (B) Heart
IBILDLY LDGHTL_GULD NG
(C) Respiratory (D) Sensory organ
GEUME LDGITL_eDID D UG & MILIL|&ET

(E) Answer not known
aflen Gsflwelcoena

175. Which of the following is a good source of Thiamine?
Wetreu (heuateupmieT simdlen creudbled flmenelldr o drerg)?

\M Whole wheat (B) Milk and milk products
wpp Canglenn umed whmib Limed Quimmeger
(C) Meat (D) Nuts
omAFD A Qar_enL_ser

(E) Answer not known
eflen Qgiflwelidvena

176. Nicotinic acid also known as

HlaGamgefls ojbeb GTGTMILD S EPLPSSHLILI(HILD.
(A) Riboflavin (B) Thiamin
1 LT AR =0 gwimiblesr
VJ Niacin D) Folic acid
Blwsmdleir GuredldE =fevib

(E) Answer not known
sflenL Qs fluishidene
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177. Osteomalacia is the deficiency of
“gp el ig GuimnGafwunr” erarug) erge @snpnu(h

(A) Zinc (B) Iron
BISSHISD @by #68)

(C) lodine w Calcium
21 Guwmig 6or STOELND

(E) Answer not known
sllen Gzilweidena

178. Which of the following vitamin is essential for the absorption of Iron?
Gerameaapper  aps el Liflér  @busrsg  edaatisgse W

SjeuFwInrerg) ?

(A) Vitamin K (B) Vitamin A
2 WirFesg K o Widadbg A

(C) Vitamin D \# Vitamin C
o Aréssg D o @irsesg C

(E) Answer not known
aflenL Qgfweldene

179. The quantity of Vit. C lost from vegetables during cooking may vary

from
sawdEhd Gurng srushsaid @@mbs GWssuu@bd el ibler & Wer arey
GHSlgD erebren ?
(A) 10-20 percent (B) 10-30 percent
10-20 % 10-30 %
10-60 percent (D) 10-80 percent
10-60 % 10-80 %

(E) Answer not known
aflenL @sflueierana
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180. Which of the following cannot be digested by human being?
ereumeuareumbled wefllgermed srenllss (pyursg erg?

(A)  Glucose
&epdsGaman
(C) Sucrose
&5Gymen
(E) Answer not known

eflent Qg flweldena

181.

(B) Fructose

GG FF &S]

Cellulose
prflsnpoid

Cellulose make up a large proportion of

Wemeu(meuareumdled erg prileppoghHlen QumbL@GRAurs s@maslubHidng ?

Dietary fiber
©_eTey bITdasg)

A

() Calcium
FaETemby] F&5! (STedlwub)
(E) Answer not known

citenL Qshlwelicvane

(B) Protein
HrsLD

(D) Biotin

enuGuwim’_ig e

182. Which of the following is incomplete protein food?
Wereu(meuameuhPled ApEpesDILIDD LTS 2 enreneu SHerL_ls

\A Red gram

SIQUTLD LI(HLIL
(€C) Egg
(L
(E) Answer not known

cflen GlgilweSldveney

81

(B) Milk
(I )]

(D) Meat

rLblah
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183. Read the following statements carefully and choose the right answer.
Qetreupeuaneupied sfliurar udae seuarnors Caiey Ceuiwab.

Statement A :  Positive Nitrogen balance occurs when more nitrogen is
lost than regained in the body.

<Maens A : oL dléd Quoii’L  eplymener e fs  eppLpmen
@uwsstiuiomier, Griweny anblyemer snblaned gHUBEDS.

Statement B: Negative Nitrogen balance occurs when more nitrogen
is regained in the body than lost.

<Néens B : o Lelled @usstiurL.  eblrmemer ol s enBLrmeT
Qupria@wrler, erdliwen e rRer Foblae ghubSng.

(A) Statement A is true but Statement B is false
SiMsams A 2 grenn e siflsams B FeUDTeG|

(B) Statement A is false but Statement B is true
iflsenas A seup e Siflémas B 2 amen

(C) Both Statements are true

siflses A whnd B 2 a@rawo

Vﬂy Both Statements are false
<sidldens A wpmb B seug

(E) Answer not known
sllenL Qg flwalieene
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184. Identify the ketone bodies.
S CLner ugdlaamer saLHliua|ibd

(A)

(B)

(€)
V]

(1)

Acetone, acetic acid and g hydroxy butyric acid

A CLrmer, o 4d sl whmib LT emanl gréal My fé oufled
Acetate, acetic acid and butyric acid

SAGCLL, 1148 obleod whmib 19w s ondlen

Acetone, acetic acid and g hydroxy butyric acid

A GLnen, 2fliigs sidleod whmib SLr enpl_grgedl Gy Mg ensleon
Acetone, aceto acetic acid and g hydroxy butyric acid

L CGrmer, ACLT Ays onflan ohpmd Slor  eeplgr&ed
Wyl f& 2iblevid ]

Answer not known
sflem. Qs fluieferene

185. An example for partially incomplete protein is
LGS Wby LyssAharar aHbsbaT G ag?

(A)

<

(E)

Gelatin (B) Egg

sareht Leng (Glgpant’ iq.6ir) aplenL

Wheat (D) Zein

Canglenw Ww&ETFGFTeT LFsb

Answer not known
sflenL Qsilweildena
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186. The highest biological value of protein is found in
erhg e ameld yrssder Ne e wibg o w@flwd bhHin srariuGHng ?

\%Y Egg (B) Milk

(pren umel
(C) Meat (D) Fish
mblgn BSebr

(F) Answer not known
elenL Qsflwefcena

187. After digestion glucose is stored in the form of
Qedasiul L @ @ensCarey ereueurm CellssiuGdng 2

) Glycogen (B) Lactose
uQeidawn weafl (HenerGarblge) LI & &SN
(C) Pectin (D) Cellulose
STUSSTFLD BrHanLpLoLD

(E) Answer not known
cflen Qg flueicrensy

188. Simple sugars are absorbed mainly in
Eipsnamid ebs 2 MG aeflw sr&smyurarg o MersliLiHEDg)

(A) Deodinum (B) Jejenum
Cuwhé AmiELd BHE FmELe
(C) Tleum qﬁf Small intestine
saL§ fAmiELe Fmi@La

(E) Answer not known
sflanL- Qgflwsiicena
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189. Which of the following is referred to as feasting hormone?
ufleow g S (hormone) samc s,

(A) Glucagon (B) Epinephrine
& enCammaett AT AT s
\6 Insulin (D) Thyroxine
senewTiig &riiL| Hir Carws srondl dprs
(E) Answer not known
allenL. Qgilweidens

190. Arrange the following foods in the descending order of glycaemic index?
Qereupld 2 eme] U@L smer oigen GHIAE sTasmy ghyF atgulery @ mhis
aflensuiler iép&HEa|D ’ ) )

(A) Apple, milk, peas, bread (B) Peas, bread, milk, apple
spUnQer, umed, L mefl, Qym_ig vl L, Cpmig, umred, <plilbler

M Bread, peas, milk, apple (D) Peas, milk, apple, bread
Qrmig, ulLmell, umrd, = nber Ul Lmedl, Lime, <y0ler, Qymiig

(E) Answer not known
sfilen Gahwelidvaneo

191. Trans fatty acids are present in

Spargmid 2 ewe euamssalar eeaphdld Trans Qanuy sudah  oHsib
SmemrUILI(hih.

(A) Ghee v() Vanaspathy

QBT Sieurd Qampliy
(C) Butter (D) Coconut oil

Q) G egior () esr i Camiamd eremblenti]

(E) Answer not known
sllen Cgflweildeane
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192. One of the following carbohydrate is used in preparing fruit jellies.
Qaeupd syetiseilen ereupanm LPLILITEG Qe Lweru @ ggie

Pectin (B) Gelatin

FNG STFD DENGHTLIGH G
(C) Cellulose (D) Sugar

Brilenpiob &S

(E) Answer not known
eflen Qg flweildbene

193. Which enzyme helps in the breakdown of starch?
ebs GEME wresssams Aellss o geydmg 2

) Ptyalin (B) Lactase

2 10pBrEETS L #rssany Gpmdl
(C) Maltase (D) Sucrase
wreGLev && e

(E) Answer not known
cflenL Qgflweleane

194. Reverse transport of cholesterol from tissues to liver is enabled by
dessallec  @Qmbs sodTREE OFdgyd  Qamulear et Flspelleer

CaweLhsseusg)
(A) Chylomicrons MHDL
sevedyed Gampliyy <idls L tsS Qamupriy
(C) LDL (D) VLDL
GODES HLTES Qampliy Bl @GephEs SILTSE Camipriy

(E) Answer not known
cflan Agflweiideane
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195. 1 gram of protein gives
e Symb ynsssler Qmhs GeuafliiLi@ib @C{,‘m‘f_x)aﬂm D|6TGY GTEHTENT ?

(A) 3 K-Cal of energy M 4 K-Cal of energy
3 AGawr sGamil 4 fGar sGeom

(C) 5 K-Cal of energy (D) 9 K-Cal of energy
H flGar sCemi 9 fGeor &Gevmfl

(E) Answer not known
cllenL_ @sflweldena

196. One of the following sugar encourages the growth of favourable

intestinal bacteria.
Sleteu(pd  FiGsaTseild g ¢E)66T66)LDUC_LL®LD @l_en @j@ﬂ@uﬂhﬂ&aﬂm euaTi&flen L
pard @6l Sdlma ?
(A) Glucose (B) Fructose
@ emEGaTeD SGNGFTESHMI
(C) Sucrose \A Lactose
&&GImen Ume) &TSES6nT

(E) Answer not known
sflen @gflweiidame
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197. Which one of the following statements is not correct?
Aemeupd sapmiseiidy seuprer abhanm semrmls.

M Basal and total energy requirements of infants are lower than that

(B)

(©

(D)

(E)

of adult

Gubmssailer giumL wpmbd Qurss ghnd Gamer Gufiuaiisamar el
GDDEITS @) (HEGHLD

Extremely active children may require upto 40 percent energy for
activity

Wb amismIluTs @@MEEh (G0EMsSERHE 40 FEGIFID GUET ,DHDED

CgeneuiuL_amb

Child who walks or crawls will not gain weight
BLEGID Dlvang serihgy QewId @Gpheng aa idlsflasrg
Infantile obesity is the result of excess calorie intake

Gpbogller 21 umoear  sHstiugurar  sGorfl 2 I Gsrdeugred
aflanaraumib

Answer not known
eflen_ Qgflwelldena
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198.

199.

Find out the incorrect statement.
SHEUDTET Fnienn S Mis.

(A)

v

©

(D)

()

BMR for women is lower than men
QueamsEpsamer  @gliumL  eeariflang wrHm fdsd errsener 6l
GEPDEITS BN (&G

Decrease in BMR is observed during growth
euariissludlesr Gung oqluuenL  eeanidlens wHn  AHflssdd  @empey
SrenTLIL(h LD

BMR of an individual is determined by genetic factors
@ puflar @yuumL eeridlang wIHn s UG STTERTSETIT
Sroreflsstiuhdng

Nicotine increases BMR .
BGaHmg.6r g1t aueni&fleang THD aﬁ]a%]g,‘&,smg, odafNsdng

Answer not known
eflent Gy flweidrena

The physiological fuel value is otherwise called as
2 Ladled 2 peum@ld Glaurir gmmedles wm@uwri ereire ?

(A)

(E)

Harris Benedict equation (B) Respiratory quotient
apmilev Quafligd FwaTLTH epsaudiiiy me| (S56y)
Atwater Bryant factor (D) Digestion coefficient
S| _eumit LGy’ sryemi] Qafloremnd Qs

Answer not known
cflen Ggfwellcvane

200. The amount of calories derived from one teaspoon of sugar is
s GCasayemy srssamuuiadimsg Gupriui@ib sGorflufer oiare, ererer?

(A)

10 (B) 16

M 20 D) 25

(1)

Answer not known
cllent_ Gaflweildvena
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